
PPASCObot SparASCObot Spares Kites Kit
PS-5094

What'What's includeds included

1

2 3 4 5

TTechnical Supporechnical Supportt

Need more help? Our knowledgeable and friendly Technical Support
staff is ready to provide assistance with this or any other PASCO
product.

Phone (USA) 1-800-772-8700 (Option 4)

Phone (International) +1 916 462 8384

Online pasco.com/supportpasco.com/support

WWarrarrantyanty, Cop, Copyright, and Tyright, and Trrademarksademarks
Limited WarrantyLimited Warranty

For a description of the product warranty, see the Warranty and Returns page at
www.pasco.com/legalwww.pasco.com/legal.

CopyrightCopyright

This document is copyrighted with all rights reserved. Permission is granted to non-profit
educational institutions for reproduction of any part of this manual, providing the
reproductions are used only in their laboratories and classrooms, and are not sold for profit.
Reproduction under any other circumstances, without the written consent of PASCO
scientific, is prohibited.

TrademarksTrademarks

PASCO and PASCO scientific are trademarks or registered trademarks of PASCO scientific, in
the United States and/or in other countries. All other brands, products, or service names are
or may be trademarks or service marks of, and are used to identify, products or services of,
their respective owners. For more information visit www.pasco.com/legalwww.pasco.com/legal.

2× Hub2× Hub
Use the hub for attaching the PASCObot Wheels to a motor.
Attach the hub to the spline of the High Speed Stepper Motor
(PS-2976), Low Speed Stepper Motor (PS-2978), or any standard
servo motor.

1

2× Screw, 4-40×1/4"2× Screw, 4-40×1/4"
Use these screws for securing the hub to the spline of a stepper
or servo motor.

2

8× Screw, 6-32×3/8"8× Screw, 6-32×3/8"
Use these screws for securing the PASCObot Wheels (PS-3319) to
the hub.

3

20× Screw, 4-40×7/15"20× Screw, 4-40×7/15"
Use these screws for securing accessories to the PASCObot
threaded holes.

4

2× Thumbscrew2× Thumbscrew
Use the thumbscrew to secure the PASCObot top frame to the
hold-down.

5

Product Guide
012-17249A

PASCObot Spares Kit | 1

http://www.pasco.com/support
http://www.pasco.com/legal
http://www.pasco.com/legal

	PASCObot Spares KitPS-5094
	What's included
	Technical Support
	Warranty, Copyright, and Trademarks


